2 6 [O] IEIFEIXE

EhvT FiE)-)

[ETATEVOTT  ANGEL [ mEDY-5L4 | 99271=yy2 [T [ Soe | R | oean | ke
ANGEL o - 3 5 — 0 3 2 5 3 2
B EIU—4 L\ 3 - 0 1 - 0 6 4 4 0 1
BOXTJ1=wIA| 0 — 5 o - 1 0 -6 0 6 3
AN = | oL | swsvc B e e
JIIE 5 -0 3 - 0 6 8 8 0 1
TANT-L O - 5 3 - 1 3 -3 3 6 2
FRSMC o - 3 1 - 3 0 -5 1 6 3
PO A3 AE As® | B [B%= ] B | %R | IR |
L3 3 — 0 2 — 5 3 0 5 5 2
KA o - 3 1 - 4 0 -6 1 7 3
AER 5 — 2 4 - 1 6 6 9 3 1
Do wee | aes< | <0 Eaieae e
RE= o - 2 4 - 1 3 1 4 3 2
fTHSC 2 - 0 2 - 0 6 4 4 0 1
KzI74J 1 - 4 o - 2 0 -5 1 6 3
IAFN-X | memas AEE | B [BER ]| &R | &= [ B |
EARFyH—-X 0o - 12 1 - 9 0 -20 1 21 3
e 12 — 0 2 - 1 6 13 14 1 1
A= 9 - 1 1 - 2 3 7 10 3 2
Il sh—or | It evane || S s
N O - 4 o - 2 0 -6 0 6 3
IR—3 4 - 0 4 - 1 6 7 8 1 1
If Levante 2 — 0 1 - 4 3 -1 3 4 2
TROE TBHFC willyk | BR [ B%= ]| B | &= [ I |
b|#.x0%zE 1 - 2 5 - 0 3 4 6 2 2
HBEEFC 2 - 1 11 - 0 6 12 13 1 1
@)Ly R 0O - 5 0o - 11 0 -16 0 16 3
PR  FLooX [ MiFvn-X | fEarc-AE BRSSO [ SR [ oo | IR
RILI4>X 0o - 1 i - 3 0 -3 1 4 3
MIFyh—X i - 0 0 - 0 4 1 1 0 2
RERFC- KB 3 - 1 0O - 0 4 2 3 1 1
XNERI OBSm=QB3RR=>ORER=@ HX K E=OHE
2023%F6H18H tH/HRELEYYH—I5
@ |09:00f A | ANGEL 0 - 3 mEM-94 AEE | 13 B JNIE 5 0 JANI-L|KZI74T| REE
@ |09:50| C L 3 - 0 KE | ANGEL [mm7w—4s| D | EB= 0 - 2 47HSC/| JIE |740d-L
— 3 [10:40| A |mEI-9n 1 - 0 w9zor=wz| AL RKE B |[Jad-L 3 - 1 FRSMC| EEZE | {THSC
| @ |11:30] C KE 1 - 4 AER |REN-YL(992012992] D | {THSC 2 - 0 KZI74J|7A4Ld-L|FRSMC
® [12:20] A [y921=92 0 - 5 ANGEL| XE | AEB®E | B |[FRESMC 0 - 3 JIE | {THSC (KZIr4J
® |[13:10 C | AZE 5 - 2 #P |voz2o=wz| ANGEL | D |KZJ74J 1 - 4 BERE®E |ERSMC| JIE
@ |14:00] 1 |FEMPES - 00TV nmm | mme | mo | MBS - 3 ANGEL | ig@sc| A9
5;&%-'- _ - 1 PK 3
1450 1 | ABR 4 - 0 BWEE |mmo-su|oand-L| v | TESC 0 - 3 A3 | = | ANGEL
2023%6H24H L&HRERNEYYH-I5 FE MIFvh—X

® [09:00| E |dA&fvn-ZX 0 - 12 BERSS(AEIILYR|IEARDE| F w0 4 Sh—>v|mEarcx2|RLI(>X
@ |09:50| G [dbA&RDE 1 - 2 JBEFC |dtAtor-X|BERKS| H |[RLIJ>X 0 - 1 MiFwn-X| @Il |S5h—v
&R ® |10:40| E |BREX5 2 - 1 HEE [JbADEF|BEFC| F |I/Ik—2v 4 - 1 If Levante| RILJ4>X[MIFyh-X
@ |11:30| G | JBEFC 11 - 0 #WILyR|{EERSS| BHREE | H [MFvh-X 0 - 0 #EaFC-KE|S/R—v|If Levante
® |12:20| E HEE 9 - 1 dta+vn-X| JBEEFC |#@JIILYR| F |IfLevante 2 - 0  #@Jll |[MIFwh—X|sEarc A2
® [13:10] G |#IILyR 0 - 5 dbAME| HREE |[fta+vn-z| H |marcx2 3 - 1 RILI4OX|If Levante| #8)1
. @ |[14:00] Vv |gEmEs 4 1 if Levante| sBEEFC [Mitwn-2| VI |Sh—=v 1 - O mpgs |mercxe|iiklE
AT 14:500 VI | mB#FC 1 7 O Mipyp-x|#EECB|If Levante| VI |marcxz 3 T 2 bAuME|SR—Sv| EMIE




Paxa o2l [, Y A N —— ~ . ~ " ~
256 O] RIBHEXEENYIEESRE h— X0 MRUIL Y RU— k=X b
1]—
PUET) =51 pp— B EeEG
IANT-L ° b oty A
308802 3 FETU-SL
- 2 0 BRRIE  ANGEL
AER 4 )
i %18E-B®|;
REE )
$388-BO[— %388-BG )
HEBES .
Vv #2088 -BO; X
If Levante 5
#£3H8-A0
TBHFC . . —,
VI $5288-BO;
MIFwh—-X
%388 -BO— $£308-AQ —
JIIE ,
il B1HE-ADE— ) 0
ANGEL —_—
%3688-B@ 0
fTHSC . .
v H1HE-A®
A3 ) .
388 -AG— $£388-A6
Sh—v )
VI $#28E8-AQ; 5
HE= 3
#£3H08-A@
HERFC- KRB ; )
VI #2HE-AG(
bR
TANT b ————, YORIIZYIA——,
. %388 -BOf 0 - $5388-B/\[5 .
s ———————— HFRSMC——
$388-A1 $%388-B1|— 2 |s#388-AK 5388 Bk —
. If Levante———, ) 0 7(5—2 ) 0
$#3HE-AD( #388-A\E—
MIFyh-X KZI717 o
NE—— AFYH-Z——,
%£3HEB-B@ $£3HEB-BZ
0 fFARSC ———' 2 et 1) ————° °
55388-A0 55388-BO— > |s3E8-An $5388-BA—
) ArE ————, . . RILyR———— )
$388-AQ $B3EE-AZ [
A ——— RILT4> X ———————
2023%F6A25H FHHRENEYYH—15 E =7 A

@ [09:00{7HNT-L 0 - 2 =HEE | jm | s7msc |[flevante 2 - 0 MITI-X| mpger |pauvE
T [ [oos| B 2 - T HSC [oaua—u| mms | BB 2 - 0 IADE|if Levante| mon—2
i ® |10:30|FHV-54 % o % AEHE | ANGEL | 2y |#88&<5 2 - 0 BEFC |5kh—vv|earcxz
AT @ |11:15| ANGEL 1 - 0 A3 |gmoysn| agZs |Fh—or 3 - 1 REFCRR gessads| mmHrFC
RBT| © [12:257F 77 0 - 2 BRAAB| ngm | mgwFC | ANGEL 0 - 3 SE—2v| 3y |marchs
FT | ® [13:10) ABR 1 - 0 BHFC gmov-su|semacs| L8 1 - 5 FEFCRR| ANGEL [Sh—3v
MEZ-9L 2 - 0 ANGEL ERa 1 - 0 Siv—3v
REET| @ [14:05 KFAZSHIER KFAZSHIED
2023F6H25H tHHRAELEZENIIOR FE RLIOX

10:30] ®B= 0 - 1 Iflevante|yuzy—yzlz=gmgmc|7HVI-L 1 - 5 MI®DI-X| Sz |kzop(T

11:15) M2 2 - 5 HEME [ien-z| g | TESC 0 - 1 IERDE ) Lyk| L0

- N |12:00777=7% 1 - 0 ERSMC| mipmE i Levante| A 2~ 2 KZIPAT| G a1 | Mion-2
= |12:45/FF=2 0 - 9 4@l NE | mpg= (WIILbvk 1 - 0 RLIZ| smsc |eaweE

o [13:30 7777 L - 0 KZIPAT) g mENILyR|ERSMC O - 0 KE x| kL0402

A [14:15] I 6 - 1 RILYR|yozormwmz| KzT74 T [EEFI-Z % ” i N7 AE=I=IS Ve B =




